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       COMPRENSIÓN ESCRITA- INGLÉS. NIVEL AVANZADO-CONVOCATORIA ORDINARIA 

HOJA DE RESPUESTAS PARA EL ALUMNO 
 

STUDENT’S NAME: ___________________________________________________________ 
 
 

TASK 1  (5 x 0.6 marks = 3 marks)    
Read the following texts about environmental issues and match them to 
their corresponding heading on the answer sheet. Write the corresponding 
numbers (1-5) in the boxes provided. There are three headings that you will 
not need. Do not mark more than five sentences. Text 0 is given as an 
example. 

 

MARK 

 

 
 

HEADING TEXT 
NUMBER 

 

 
A 

Cleaner power stations may not be able to supply all the country’s 
needs.  0 P 

 
B 

An insistence on considering the importance of environmental 
changes.  

      
      

 

 
C Contribution to Climate Deal is in serious danger. 

  

 
D Expecting a ‘not in favour, not against’ vote.  

  
 

 
E 

 
Green changes that haven’t become true. 
 

  

 
F Promises to stop worsening Global Warming. 

  

 
G Putting off the vote on the emissions plan. 

  

 
H 

The Government considers gas emissions more important than other 
health issues. 

  

 
I The Government is working on reducing gas emissions. 
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STUDENT’S NAME: _____________________________________________________ 
 
 
TASK 2 ( 5 x 0.6 marks = 3 marks)  
Read  the  following  text  and  choose  the  FIVE sentences which are  
correct  according  to  what  you  read.  Mark the corresponding box. Do not 
mark more than five sentences. Sentence 0  is given as an  example. 

 
MARK 

 
 
 

 
 

                  Iraqi interpreters left without help because of rigid guidelines  
 

 
0 Broadly speaking, the Government's policy for helping the 

British in Iraq has been very useful. 
 

X 

 
ü 

A 
The British scheme has shown that all interpreters have 
benefited from this new policy. 
 

  

 
B 
 

The violence against interpreters helping the British started in 
2005. 

  

 
C 
 

Mark Brockway states that the Government should make its 
assistance policy less severe. 

  

 
D 

The British Government did not propose the scheme on its own 
initiative. 
 

  

 
E 
 

Now that the conditions are not so strict, many people will 
benefit from the assistance policy. 
 

  

 
F 

The majority of the Iraqis who work for the British are keen on 
beginning new lives in Britain. 
 

  

 
G 

Patrick  Mercer, MP, supports the scheme as it is, since it 
represents a powerful measure against terrorism. 
 

   

 
H 

Mr Mercer, declared that British soldiers should not be reckoned 
as more necessary than any interpreter.  
 

   

 
I 

The Locally Engaged Staff Assistance Scheme is not likely to be 
changed. 
 

   

 
J 

Although assistance has been largely denied, some cases are 
still under consideration. 
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STUDENT’S NAME: _____________________________________________________ 
 
 
 
TASK 3  (5 x 0.8 marks = 4 marks) 
According to the text, for each question write the correct answer (a, b or c) 
in the white boxes provided. Item 0 is given as an example. Only one answer 
is possible. 

 
MARK 

 
 

The city that looks and smells like a landfill site 
 

         QUESTIONS 
 
 
0.- The refuse collector’s strike has 
 

a. allowed rats and other kinds of animals to feed themselves freely.   
b. left only Headingley covered in rubbish.   
c. made the number of rodents increase.  

 
1.- The council wants all of its workers to 
 

a. accept a more equitable pay scale between the sexes.  
b. allow women to earn more than men.  
c. work longer for less salary.  

 
2.- The term “all-out strike” 
 

a. belongs to a distant past. 
b. is familiar to students in Headingley.  
c. is a new way of social action against unpleasant political measures.  

 
3.- Jess Johnson 
 

a. admits that students are partially responsible for the situation. 
b. is horrified by the state of the street around where she lives.   
c. lives with five other students.  
 

4.- Students from Headingley  
 

a. are responsible for most of the rubbish left in the streets.  
b. have taken no action against the state of their neighbourhood.   
c. moan about the behaviour of other people.  

 
5.- Some areas of Leeds 
 

a. are being discriminated against due to the type of resident.  
b. have sorted the problem with private teams of refuse workers.  
c. struggle to keep the streets clean because they have students living in the 

area. 

 
A 

 

 
ü 

 
 
 

 

 
 
 

 

 
 
 

 

 
 
 

 

 
 
 

 


